SPO74E-015E
P: MP

gm P.G.Information (Specialized product)

3-Position Rotary Table
MSZB-X1 /-X2 [-X3 [-X4

SMC CORPORATION

4-14-1, SOTO-KANDA, CHIYODA-KU,
TOKYO 101-0021, JAPAN

URL: http://www.smcworld.com

Featurel: 3-stop poSIitioNS (Rrotation angle: 0°, 90° and 180°)

Feature2: Equipped with external absorber.

* Two types (high-energy type and low energy-type) are available.

A port

C port

(Meter-in)

Meter-out

i
]

E |
— ‘3 “:
D port § /
(Meter-in) e o § Supply port and speed controller
\ / Q . Supply port: @
\ \ @ N‘?Et,;?_rct)ur y Rotation AC port B. D port Speed controller
— S cwi ° ° C Port
. // cw2 L - B Port
CW? ( ccwi Ll Ll D Port
Specifications
Size 10 20 | 30 | 50
Operating fluid Air (Non-lube)
Max. operating pressure 1MPa
Min. operating pressure 0.2MPa
Ambient and fluid temperature 0 to 60°C (No freezing)
Max. rotation angle / Min. rotation angle 186° / 174°
End position adjustable range +3°
Intermediate position adjustable range ™ +10°
Rotation time adjustable range 0.2 to 1s/90°
Absorber type LF)w-energy type RB0805 RB1006 RB1411
High-energy type RB0806 RB1007 RB1412
Max. allowable Low-energy type 0.161J 0.574J 0.805J 1.31J
kinetic energy High-energy type 0.231J 1.06J 1.21J 1.82J
Port size M5 x 0.8

*1) The table may have a bound phenomenon stopping at the intermediate-stop position (operating with the max.
allowable kinetic energy, the degree of bound is + 10° to + 35° from the stop position and it takes from 0.2 to 4 sec.

until the table stops completely).



How to Order

| High-precision type | MSZAL0 |AX- MlgB - X|1

|
Basic type |MSZBlO AX' MgB 'Xl
[

Size L Special-order suffix

10 Suffix Shock absorber type Shape
20 X1 Low-energy type Standard
30 X2 High-energy type type
S0 X3 Low-energy type Inverse

| A | With adjustment bolt — X4 High-energy type type

Auto Switch Product shape Standard type
[ Nil__| Without auto switch (built-in magnet) | ath | fefgield
*2) Please choose desired auto switch code from the table below. @B X

Number of auto switches

Nil 2 Inverse type
S 1 PefgNe’| | g
n n oved | o
J
*3) The auto switch will be included in the box (unassembled). i

Applicable auto switch*4) Please refer to our Best Pneumatics (SMC general catalogue) for the detailed specifications of auto switches.

Code Auto switch type Code Auto switch type Code Auto switch type
A90 D-A90 MON D-M9N MONW D-MINW
A93 D-A93 M9P D-M9P M9PW lor disol D-M9PW
A% | . | DA% M9B Solid state | D-M9B M9BW Z-ch))l?c; gtI:\feay D-M9BW
A0V D-A90V MONV switch D-MINV MIONWV switch D-MONWV
A93V D-A93V M9IPV D-M9PV MIPWV D-M9PWV
A9BV D-A96V M9BV D-M9BV M9BWV D-M9BWV
Water -proof
F9BA *5) type D-F9BA
(2-color display)

5) Though the water-proof auto switch is
applicable, this actuator (MSZA/MSZB-X*)

*6) Lead-length suffix (Please add a lead-length suffix after the auto-switch code.) is not water resistant.
Lead-length suffix
Code Lead wire length Example P ='s
Nil 0.5m M9N @/ \
L 3m MONL %@ SqE= A
Z 5m M9ANZ :

Adjustable range of rotation angle
* Max. rotation range: 186°
* Min. rotation range: 174°

*7) The right figure is the rotation range of the positioning-pin hole.

. 180°
186°

Dimensions: mm (Refer to the drawing attached to the Ias;{bégé)ﬂ/

A Caution To ensure the safest possible operation of this product, please be sure to read thoroughly
the “Safety Instructions” in our “Best Pneumatics” catalog before use.

@2008 SMC Corporation All Rigth Reserved



V' A XA AN RECL T \\‘./ iui! Jnul (mm} SPEC[FécATIONS
. DE D& 517k 10 | 20 { 30 | 50
+ANGLE ADJUSTMENT ADJUSTING RANGE OF SIZE'[An| A [Av|aw|ax|aY|Az|BA|BB|CA CBiCC| D jDD|qnlOF ol EA B8 EC|En|EeEFIFA|FB|FCIFD|GA|GB[GC{ED|GE| H | v TG TR INGNCLUBE)
SHOCK ABSORSER 10 |ualsoj1a17| 8| 7] ¢« |9.5|60] 7] 7 38/45/46l20] 5 |15/sn.elae350.5014lsr.2i80] 8 | 4 | 3 [4.5|20]5811|7.5/45.2013 6.8 mi g;ﬁg:g:g gggggggg 01;‘;2&
POSITIORING PIN HOLE AMB]ENT AND FLUID TEMP 0~B8°C [NO FREEZING}
20 (3124|8817 (18.8{1C] B8 {1.2|112|76{8,5]20180,4I18061.28 9 | 176.8:35,3:42 4181111108110 & %.5 6.5125{45.5/14(9.5[56.4{1718.6 WAY. OPERATIRG ANALE 188 °
i g 30 [wrive|17]iesite] 8 [1.2{12]84i08i0.5]53.565 67132 9 [22]80.1180.3 46 {108/ mal110l 10045 3 [6.5)27 21514 [9.5]605]17 8.8 RAGE 7 THE D POSHTLLAIHE 3
ADJUSTING poor ol ey : : : : . P : : : i : RAFEE OF 3 WIDLE POSITIONING 110°
B0LT A DPEATENG T1XE ATJESTNERT RANGE 0.2~15/9G"
ﬁ?ﬁa . 50 lwgieciie|eal12|10]1.6/15.5(100012.4102.5060.6]75 77135 10 26 .9 n.4(56 22 m1j430/12) 5 | 3 [v.5 32| 28] 18 105]7.8| 20 105 ST Sosr AESORBER
ggf?SéENG ALLOYABLE ic?grlc e | 0.1614 05744 RN 1 314
p WB XB Y3 LIRADIAL EOAD 7N 147N 196N 314N
ADJUST I NG @ | = SIZEJJAJIE) IO D) WJU ) JY K NAINBING ND) G | S [SCISDISUIUU WA WO) WD [WE WF |jgg) XCIY A1) YO SITHRUST LOAD [FULLTTANPUSH; TNPULL; L3TNPUSH: (YTNPULL; STARUSH: 3633 PULL 295K 05H 451
07T . ALLOYAD 2, 4N 4. 0N-12 5.38-m 9, TNt
BOLT 8 B J«f’?“'{ml' 10 §11|6.6|M8x1.26] 12 |Max0.5M10xt | MBx1 |10]5.6]12.5] 4 |3ams|a6]50(m3la7|15| 2 |2.5\usx0.8] a [32] 3 [a.5{18] 3 |35 : L0;§§§2§§§{ ok 56N 6N R SR
B [THRUST LOAD IPULL . T4NUSH LOTAPELL 137 PaSH ; {3TRPULL: [STHEUSI 8B FILL -28ENPUSA- 517
BEANENES 14 SlHETeR ou 20 |14i8.5%10x1.5 45 M5x0. 5 W12x1.26) M10x1 |14 8 [16.5 4 |37|188.5/58,5[63,5/ 30 |54 (20,5) 4 [4.5] MEx1 |10|43] 4 |4.5/241 4 [4.5 TR 2 oN-m | 4 BHem | B.AN.m | 12.0M.m
ggég?:‘ggagggg!ﬁ GF 30 114105 M10x8 . Bi15iMBx 0, 51MI2x1,26] M10x1 |14} B {16.5) 4 |40 [18463,5/68(36,4{57 (23] 4 {4.5| M6x1 |10148| 4 [4,6]/28 4 i4.5
80 |18110,58]M12x5,75] 18 M6X0, 75 M14x1. 5 Midx1. 5| 18 8. 61185 B |46 24576 |78 |41 861{28.5] & 5.5 MEx1.25]12{65| 6 |§.6/33] 5 (5.5 REED SWiTCH TYQE' 30L1D STATE SWITCH TYPE
MODEL] D-A83(V) IMODE L|D-MSN{V)|B-MIB{V)
‘?gBLEEPBSHEON g?ggS)TgED En THE - VOLTAGE 1AC1GOVIDC 2 4] [eover souece | B55 28 50| ——
COUNTERCLOCKW!S W) END WHEN TH & o -
b 15 e T
OPERATION Lo LY PORT | sppgg -THERE CAN BE A BOUND WHEN THE PROBUCT 15 5 .21 L J
{00 T A TPGRT | CONTROLLER STOPPED AT (TS MIDDLE POSITION, oEB & 5y K RSISTMRE| 3007/, JORE TWE|  1mS OR LESS
. PORT £ | PORT © {1F KINETIC ENERGY 15 EGUAL TO ALLOWABLE <§<,°" JA COUNTER BORING |ﬂEmHﬁtmEﬂiE}? 2.7V OR LESS ST RESISTAME 1009"/;‘
: Cut & | & [ PRIC VALUE, THERE WILL BE A BOUND OF +/-10 TO 2 4.5
T . — . 2y DEPTH J8 ‘Refer to the general cataloa, NN SO0NE B0 0.8Y O LESS T 4Y OR LESS
v T e s T hORTS +/-35 DEGREE 10 THE STCPPED POSITION, AND ooy peprpl ye 35 Y B85t pneumatics reqarding Unzneclfied 5eec. of otAer Lype
e & TFORT } THE BOUND WILL DISAPPEAR 0.2 TG 4 SECONDS - - : :
()
AFTER,) 2
+THE FIGURE SHOWS THE ROTATION BANGE OF THE POSITIONING PIN HOLE. CSHIBPING WITH AUTD-SWITCH ENCLOSED. - Aty
CADJUSTING METHOD OF MIDGLE POSITION COMPLIES WiTH MSZ STANDARD, INGT MOUNTED) -;\“ ?\)3 g THE PARTS WHICH DO NOT EXIST ON THE PARTS LIST ARE COMMON T0 MSZ#EA,
-ADJUSTING BOLT A AND 8 DO NOT NEED ADJUSTMENT. > xlﬁi 50, bt~ R-H4-13-A1727 PLAZEDUFOR 517656)
) < R e 7 [R-810-13-A0726 | HEXAGON NUT 40V CARBON STEEL WIRE 268| 2 {PLATED(FOR SIZEA-DO)
L _13-
[ HIGH PRECISION TYPE | | — - T Ll
- - (FOR 8)17£50)
4D LONTENTS OF SPECIAL x %@-—r o g € 6 [RB1006-X1053 | SHOCK ABSORBER e 2 |FRTH BETCr -
=] w ___{Fog 517630:301]
40H WITH EXTERNAL SHOCK ABSORBER. N ] s w3 RBOBI5-%1053 R e elein)
S04 (FOR LOW ENERGY,STANDARD TYPE) < S = CADL052 Ve Tl s AT
B # NASKS INDICATE THE DIMENSIONS AND SECTIONS * g CA01051 Bibic MPCiEds sirtin)
— Wiriz28 Ta2I61 COATIXE:
5 = WHICH ARE DIFFERENT FROM STANDARD. . g (CAOLOAS Luey sorxer vean cap SOAEV | STAINLESS STEEL| 2 Mt mtimal
5 < CA01850
- 1 i
i 3y P5230154 SR o
I - SHOTK ARSORBER P5230153 BSIC TEtFan Si7Es0)
{.b. ! > 5230454 82381 CONTING
- =2 ! TR
- - 00 - iy 4 gigzggza HEX, SGLKET BEAD CAP SCREV | STAINLESS STEEL| 2 mpimrae)
H $D E - CAD1G48 lﬁ:gﬁxgg"wgﬂSIliaa
J _ 0 4yM5x0.8 B It e 1 13385 COATING.
5 o (PORT §1ZE) SN A $DE b o P6230473 L i St
¢OK(THROUGH HOLE) - o <t BR230472 s.\smwggnlzm]
ki
95230373 HI&H PRECISION TyPE
0L = LA oFm € 7
(] 2xdV = ISIC FreE
{mm) - 2L E (H) T - g |E2230372  1yppig ALUMINIUM ALLOY! 1 hmrmeeaii
D DL 2xJy | P5230273 {£0R §12€70)
S1ZE {DH | D} DK FE|HA|NE|[NFIUV g I o - FAGTC TYEE
(Ha) {H8) \ 4 " = 8230272 £0p 5122
. == al 2 P5230173 S GO T
10 1451461201 5 [15110{18,5/11 18525 / / bk e - 75230172 "?ﬁ?f'c"'"“i"fg"s'm
20 Jec|s1ias| o 17155 26]17|5.5163 ] T 5230452
r > P5290451 BSIETIE
30 [s5)67|32| 9 [22(18.5/27|16,26.5087 BREATHING HOLE A1 ce $0F { THREUGH HOLE ) Yo P5230352 HIE PR ki
e P5230351 TRETE TYOE
50 |75{77]as|10|26|17.5{30 [16.5120.51 786 A S0 ¢0G BA e 2 treaygass | ABSORBER HOLDER |ALUMINIUM ALLOY| 1 wgrmicisios ot
sC ey P5230251 T
L Ll KIGH FRECISIEN TYAE
HOW _{O OQ DE ? (MAX. & SU} 5 [T Rm] Sggggigi T “;gk S1ZE10)
WO W {FOR_S17E40)
MSZEMAX -%%~X1 P5230450 {FOR 51765
. , w P5230350 {FOR 512E30)
A:HIGH PRECISION TYPE m[l]?lgi ggog:@gﬁﬁénégﬁé?ﬁNE?EgG:Y?E YA 2 R = ! [psazeaso MM RO VELTREKI STEEL) 2T (e0p siuae)
B:BASIC TYPE ' 2xJ€ DEPTH JO 5 P5230150 {FOR SIZE185
[TEM| PART NO PART NAME E A
— NUMBER OF AUTO SWITCHES NI l o> MATER AL [ SEMARKS
10 NiL:2PCS O mE it
5:1PC5 2 ; ek # s
20 M3 = m el
n:nPcs KINDS OF AUTO SYITCH  |=fwswv 1D % A8 b
30 r SYMEGL TYBE PEUEPVTTD . i PESERTETION FREFMGERLREV WO T T RODEL g
50 NTL | VITHSY SOITC | [ MEBYVTE - - A LA SEALE - 3140 @{3
#A90 D-AGD SUFSNW LD _ RANGE {mim} n e il ARGLE
e ggg gmggg i gg D-Fg T RRDR . fag|o.a p!f!DESIBNED W.Magar | hush | [5WERAWE
N i = - (=115 3 & = 1M K- 4¢048 4,050,523  patE
A:ADJUST BOLT ROV TBoAssv | MEamwviE 4 TR o 3 POSITION ROTARY TABLE
ElassvTb-rssv {{B[Feruvin: st R e |
=IAQBY = ASBY FSRYYED-FORWY anccpgioan [ofalo,n; ¥ [Areroven| K Takeushi @ MSZ?&%AX—?&&—X:}_
1008¢DLR000 LA, 6l 2F & DATE {2c07-11-58
FINISH:BRAE 7 PAINTL48 / PACKING: 3aks oz e fovs wec B 08A13452400] SMC Corporation
AL-V0E




VE LA RN ANV L OFY A\ ‘Uﬂ JHLII

e {mm) SPECIF[CATIONS
ANGLE ADJUSTMENT ABJUSTING RANGE OF SUZE|AA| A [AV AW [AX AY|AZ|BAIBB|CA|CBCCH D DD\ OF [ﬁg EAJES|ECIED|EE|EF |FA|FB|FC|FDIGA|GB|GC|GD(GE| # | u i SiZE ia | 20 { 30 [ 50
[ AIR{NON-LUBE)
SHOCK ABSCRBER 16 jualsoi1al17 8 7 | 1 |s.5]e0| 7| 7 [38lasias20| 5 |15|wsjasjmsitalsnzieo] e |4 i3 jesf20 w6 11l0.5/12[13]68 HAX, GPERATING PRESSURE iMES
POSITIONING PIN BOLE Mik. GPERATING PRESSURE G, Z2MPa
~ B 26 Imaiesii7iasi1ol 8 {1.2i12]76]8.1]10]504i60]61 |28 o [17(61.8]85.3143] 18 nr1j100i20] 6 |2.5{6.5/25 19514 2.5(s6.0{ 17|46 AMEIENT AND FEUI0 TEND 0-80°C (NG FREEZING]
[E3ueTer 1 SR NETER OUT : HAX, OPERATING ANGLE 186"
ADJUSTING 30 juai7oi17i8.510| 8 |1.2|12] 84 10808508 65167032] 9 J22l6s im0 a5 10.51me110{21014.5) 3 16.5027121.5/14,¢,5/60.517(8.6 R¥GE GF THE ERD POSITIONING +3°
OLT B BORT G} PORT & GARGE OF THE NITOLE POSITICKING ¥10°
. 50 [wisoli1eizi|12|10]1.6(15.50000]12.412.5/50.6( 75177 35]10i26 8.0 n.4issi22] w130l 12] 5 | 3 i7.5]32 |28 18}11.5\1m.9{ 20188 UPERATING TERE ABJUSTHENT RANGE 0.2~18/90"
8z,
ADJUSTING : i} . CUSHION SHOCK ABSORBER |
BOLT a ALLOWABLE KINETIC ENEREY 0,231 1.084 1.21d 1.824
ﬁﬂ 5128 |eaioal oo |up| wu | uv kK |nalnsinc|nn] a|s |sclsojsujuuiwal¥Blwe] wo [we|wr|XBixcivallR LIRADIAL (OAD} . 78N 147N 196N 314N
ADJUSTING /7 o : £Ha} P likd XE "4 lisey) 7 © 2 THRUST LOAD PULL; FARPUSH:T8NPULL: 137RPUSH: LI INPILL 1107RPUSH:363MPULL: 2OUNEFUSH 451
BOLT By 10 |11 {6.5{M8x1.25] 12 [Mdx0.65{M10x1 | MBx1 |10(5.5/12.5] 4 |34 {1346 500m3 47151 3 |3.5]M5x0.8] 8 [32] 3 [3.5]18] 3 |35 MLOFABLE | MOMENT 2.48°m | 4.0N-m | 5.3N-m | 9.7TN-m
. Loa [E|RABEAL T0AD 86N 168N 233N 378N
uETe 1 v ot 20 [14]0.5|msox1.5] 15 |Mox0.5|2xt.25] Mi0x1 | 14| B 6.5] 4 |37i1635060.5162.5/ 3954 1205 4 |4.5 MEx1 |10[43] 4 {4.524] 4 |4.5 5 THRUST_LOAD 'PULL  P4NPGSH; S3THPULL: LYTHPUSH, L5 HPULL LOTHPUSH: S08MPULL:296NPUSH: 104
ADJUSTIHG RANGE OF | KOMEHT 2.9N-m | &.8N-m | 6.4N.m | 12,.0N-m
SHOCK ABSORGER 30 [14[B.5|M10x1.5|15 |M5x0.6 M1201,25] M10x1 | 14| B |16.5) 4 [40]184,53.5 69 36,6 57[23] 4 [4.5) MEx1 [10|48| & [4.5]28| a |45
50 [48(10.5u1201.75| 18 |M6x0.75 [M1dx1 51u1dx1,5]1910.500.50 6 46 285/ 76 78 /42.¢|86 128,50 5 I8, 5[Man1.25122 55| 5 [5.5/33| 5 |5.5 REED SWITCH TYPE || SCLID STATE SWITCH TYPE
TABLE POSITION SHOWS THE MODEL| D-A93(V) MODE LID-MGN{V) |D-M3B(V)
COUNTERCLOCKWISE(CCW) END WHEN THE o VOLTAGE [AC100VIDC24 V| |P0vER SUACE| (5 80, | —
*SUPBLY PORT AND SPEED CONTROLLER END-TO-END ANGLE |8 SET AT 180°. ‘;:Sﬁ CURRENT RANGE | 5~ 2 OmA{S~4 CA| Duitial comeTIon SOnh OR LESS [ o
GPERATIOK SUPPLY PORT SPEED <THERE CAN BE A BOUND WHEN THE PREDUCT iS a\c;‘" PESPONSE TIME 1.2ms LOAD VOLTAGES D026V 08 LE53 mr?fczfzvsv)
PORT ATFORT 7| CONTROLLER ?EEP;EBJICISEE&SD%S ggg;!\[!?g';mowmr.g *EB ér\\ 2x SHOLK RESLSTANEE 300"/, RESPONSE THE ims OR LESS
: JA COUNTER BORING
éé o — ;8§ E VALUE, THERE WILL BE A BOUND OF +/-10 TO s & §5 DEPTH JB R AOAER 2. 7V DR LES: ji L IAIAE 10007/
o . . SO D +/-35 DEGREE TO THE STOPPED POSITION, AND Wb ‘CQ@:Q‘ -Refer te the general cataloeq, JiREdul AT B 0.8¢ OR ?.ESS{ &Y Of LESS
v T T FosT A lggggagwn WILL DISAPPEAR 0.2 TO 4 SEconps __SxWD DEPTH WE . > - Best pheumatics regarding unspecified spes. of other type.
. O o
+THE FIGURE SHOWS THE ROTATION RANGE GF THE POSITIONING PIN HKOLE, SSHIPPING WITH AUTO-SWITCH ENCLOSED , Sl o o
v , &
~ABJUSTING METHOD OF MIGODLE POSITION COMPLIES WITH M57 STANDARD. {NDT MGUNTED) R THE PARTS WiICH DO NOT EXIST ON THE PARTS L1ST ARE COMMON T0 MSZ®4A,
CADGUSTING BCLY A AND B DO NOT NEED ADJUSTMENT. -G -- 4”% -
> e, 4 o S0 Y = R-0L4-13-A1T2T PLATERIFOR 517E50)
_B f = AT {] R ht 7 [R-DL0-13-A0726 | HEXAGON NUT LY CARGOR STEEL IRE k00} 2 |PLATEDERR sizao-%]
{ HIGH PRECISION TYPE | m ol (Gt @ s * C2X£0-13-K0456 PLATED(FO 5126101
40 CONTENTS OF SPECIAL N I} < PAE, - ~ o= RB1412-%1053 FoR WicH ERERGE
P WITH EXTERNAL SHOCK ABSORBER, o =i . 3 o G = & |RB1007-X1053 | SHOCK ABSORBER e 2 [0S S
L {FOR #1GH ENERGY,STANDARD TYPE) < = L RBCA0A-X1053 Ml 5
and [ » CAO1062 Wi, 518 T2 (AT
e + NMARKS INDICATE THE DIMENSLONS AND SECTIOQNS g * o CAB105% =
WHICH ARE OIFFERENT FROM STANDARD. * E CAG1049
N i 2 88 - 5 HEXSOCKET HEAD CAP SCREY | STAINLESS STEEL, 2 fRfchaieiein
z| ui < CAC1050
. = _q - BASIE TYPE(FER $3762638
ry w I #EF | Ixk P5230154 182361 COMTIAG
I S . SHOCK ABSORBER P5230153 T ERTIN e
= 4 8 1;’ P5230454 T R Elztee)
D o 182351 COATING
- - 200 oW 4 HES23038 ey cover wean oae sciev |STAINLESS STEEL| 2 He e
= CA01048 Wi, 8132  {FOR SIZEH:
T 40 o 144 HEDGRRS
L B 4xMbx0. 8 S — - CAD1845 AR
o o (PORT S1ZE) *+NA $DE b O P5236473 VG FREGISION TYP%
$OK(THROUGH HOLE) . @ i « EETH T LR 122500
o 18 R H
$0L < { i @ L 2y dv LA % u23 \m = £5230373 it pascls;g»llzﬁge
L A - :
tmm) ! 2xuU SI—EMM‘WE A 3 |EBEIO3TE  jpp e ALUMINIUM ALLOY| 1 :2;%%‘?‘;%%3&
wa7 Jonlor |22 ok BL Fe fHaNE [KF Uy e Ll o) NN & = £92302173 " o iz
)| OF o) @ T g 2 P5230272 PR T
10 |45{48|20] 5 [15]10|16.5/11 18 525 LS = al ~ P5230173 HIGH PRECLSTON Tree
“Hé!,mtf A M, (FOR_§12610)
?t 1 = £52301%2 BREEETYPE N
20 |60[61128) 9 |17 |165/26|47[35,5/63 \ 95730452 nlwvaeézglgvzigg
| tFag sl2e50)]
BASIC TYPE
30 |[65|67|32] 9 |22]16.5)27|18[2s.8]67 AA BREATHING HOLE 4 ce $DF (CTHROWGEH HOLE) Yo faai LRy
- = e 21
50 }75|77(38)1012617.5/30|18.5/20.5| 98 A 5D #0G BA 1 i
5 3; 2 [Seo30s52 | ABSORBER HOLOER |ALUMINIUM ALLOY) 1 PP T
C [T BASIC IYRE
HOW TO ORDER x| s 80) . b e o
N
MSZHAX ~H ¥ ~ X2 5230151 Kl
pant ~ P5230450 (FOR SLIERD)
A:HIGH PRECISION TYPE KENDS OF SHOCK ABSORBER:FOR HIGH ENERGY YA 5 u 1 P5230350 ARM FRE—— P38 SFZER)
B:BASIC TYPE POSITION OF CONNECTING PORT:STANGARD TYPE 2xJC DEPTH JB - PE230250 (FOR S2620)
PR P5230150 (FOR SiZEN0)
51 2E NUMBER OF AUTD S¥ITCHES SYEEGT [ TVEE ¥ T i > [TESE_PART NO PART NAME MATERIAL _|G1Y] REMARKS
NIL:2PCS MSN _ {D-MSN L. % i
%8 Sianee KIKDS DF AUTS SW1TCH 2 ma :m; crﬁ—rT“ “E* ot -
n:nPCs MENY TD-MONY o
30 ;_ ST TYPE ]| IMaPV DoMBEY It PN 2N S > o il fes
50 T HIL TTROET SosTeh it iMGBY ~MaRY - e TOLERANAES E:(;:s‘;c;;:ﬂuu DRTEITREPIREY _REV MO fummn MOOEL Ly
=[AS0 _[D-AS0 SIFONW TD-FaNW i it v re iAo ok M Harada T w'“”@@
FHAS0 10-A8C e R DR T amsseoon RTT20EA nie lacgr-11-0e] Frige [ AHGLE
A:ADJUST BOLT— 5[ASe 10-AS6 _||=[FoRW [D-fobW - e T e e o] I
. i — B Lfa. 3 - -
AS0Y_[D-ASCV ||={FONWViD-FONWY A A 200022208 3 POSITION ROTARY TABLE
#AQ3Y [ -ADTY S FOPWY ID-FAPWY 30¢8£120 118179 0. B CHECKE] WG NO —
=AY ~ADGV FOBWYV [D-F GRWY Thocnash [o.{8.0% .0} HAIE REVI SIS
oneperors o /la a] 4 jreeaeven|K | Takeugh @ MSZRmAX-ER-X2
FINISH NERE / PAINT 2% / FACK'NG.‘QH#{?) 1000404000 B4 431,21 & [)_,!15 AR0T=31-048
MATERIAL (3N / MATERIAL S3ZE:dsve Jees ] NG REC s 1NBA13452500] SMC Corporation

AL-VOS



vl G RE ANREL DAY iuﬂ Jn\l' VEHIHR S

TLOKS
51zE [aa A |av|aw axiay AziBaleB|ca|cBicc) D DD (DHE} BF <Dn;31 EaleB|ECiED|EE|EF|FAIFB|FC|FDIGA GB|GCIGD|GE| H | o SPEMEI;% T8 ; 55 I 5 I TE
<ANGLE ADJUSTMENT - FiTs AlR({NON_LUBE)
18 M7 80(148{17 8 7 1 (9.6[B0| 7| 7 [38{45]46i201 5 {15162 5[44,2{33.5]141971.21801 8 | 4 3 [4.5|20|15.6)127.5146.211316.8 WAY. OPERATINE PRESSURE TMPa
WIH. OPERATING PRESSURE 0.,2MPa
20 1R.4/85]171185 401 8 (12112768, 3|10H904160]61128] ¢ |17 ]61.8{55.3143{48 1411100} 10} 6 [2.5]6.5|2519.5{144.5156.4{1718.8 ANATENT AND FLUID Itwp B~60°C (ND FREEZING}
. Y 186"
390 Jsaivol1v(esi10] 8 {1.2/12)84(10.5010.5/53.565{67132] @ |22(63.1/60.3| 46 10.510.41110]10 |4.5] 3 [6.5{27|e.5{14(9.5161.5]17 (0.8 }ﬁg D?P‘FE’EAETHIDNFBDS'??FQ;%G 13°
SRIEE 37 IORING +10°"
50 |salsel1alza12|10]:.6015.50100]12.4)12.560.6/ 757713511026 86.7|n4j56 22 #ssal130i12 ) 5 | 3 |7.5]32 (28|18 |1.5]72.9) 2 105 iugiﬁgﬁs]ﬁuﬁl%&ﬁsﬁg{;i e 0 E-15780"
CUSHEION SHOCK ABSORBER .
ALLOWABLE KENETIC EMERGY! 0,1614 0,5744d 0,808 1,314
Wi XB YE
et o SIZE{Ja|JdB] JC |aD| U Jv K NAINBINCINDI QS (SCiSBISUIUU WA iy WC! WD {WElWF (18} XCIYA (59 YC mmm.\; L840 TEN 147N 196N 314N
i S5 THRUST LOAD [PUL ; TaNJPuUSH: PEAIPUL s 37NJPUSH: S3PHPULL, 197M(PUSH 353MPEL £ 298KIPGSH ;4511
10 [11]6.5MBx1.26|12 |MaxD.5] M10x1 | MBx1 [10[5,5/¢2.5) 4 134 1nsl46|5010.3/47 15! 3 |3.5iM6x0.8| 8 |32 3 |3,5/19] 3 |3.5 ALLOVABLE | DNERT AN 3.CN-m T a TN m
s | e ADJUSTIHG_RANGE OF LoAD [ETRADIAL LOAB 86N 166N PREL 378N
At | : SHGCK ABSORBER 20 |+4(8.5{M10x1.5] 15 M5x0 5{H12x1,25] M10x1 {141 B (36,5 4 37 153,5/58,5,63,5/38 54 {20,5] 4 4.5 MBx1 [40G|43] 4 [4.5]24] 4 [4,5 EITHRUST LOAD #uti: TaMPUSH: 107WPULL: s37PUSH: SOZHPULL: 19THPUSH ; J90RP0LL : 258HPUSK: 517H
B
Pog] Ptmﬂi ! & HONER? 2,8N-m | 4.8N-m | B.4N.m | 12 .0N-m |
- POSITIONING PIN HOLE 30 1418, 68/M10x1,5] 156 [MExD, 5 MI251, 25| M10x1 {141 8 [48.5 4 (4011684 65,588 16.4]87]23] 4 (4.5 M6x1 [10148] 4 |4.5[28] 4 |4.5
-5 iR W S an
© 50 1£8[10,5[M1201.75| 18 |M6x0.75 [M1dx1.5 M14x1.5|1 9 |8.5{10.5| & (46 |45{76 76 a2.e|66 265 5 |5.5/M8x1.25{22 |56 & |5.5[33| 5 [5.5 . .
ggég?;ggngg?gf 0F &, REED SWITCH TYPE S0L10 STATE SWITCH TYPE
E D-A83(V MOBDELID-M -
SxWD DEPTH WE MODE L (V} ocs-?g-(a‘ii B-MIB(V}
“SUPPLY PORT AND SPEED CONTROLLER ok /—————— voLTAGE [ac1a6vV[DC 2 av] [eere soumer | 555 220, —
$EF
SUPPLY PORT : - CURRENT RENGE |S~2 DmAIS5~4 OmA| [ReEE (DSHeIf 1534 OR 1658 e
SPEED SHOCK ABS
| OPERATION FORT AT FORT § | CONTROLLER ORBER l _ REsowsE THE| 1. 2ms LOAD VALTAGE | 028¥ O LESS | (ol v,
Vi e | e | FBIT 23 z = S ISSINE| 3007/, RESPONSE TIE|  ims OR LESS
é::ji : : PORT 8 . JA COUNTER BORING *1 w UL M R 2.7V OR LESS | | St RESISHAE 100G/
T e oy DEPTH B i -Refer 10 the general calaioy, DNl TIGLRW 0.6Y 08 LESS] 41 8 LESS
) <t § O o O Best pneumaties regarding unspecitied spec. or other type,
+THE FIGURE SHOWS THE ROTATION RANGE OF THE POSITIONING PIN HGLE. m&%i ‘f 2w
*ADGUSTING METHOD OF MIDDLE POSITION COMPLIES WITH MSZ STANDARD. : b
“ADJUSTING BOLT A AND B DO HOT NEED ADJUSTMENT. . L ” THE PARTS WHICH DO NOT EXIST ON THE PARTS LIST ARE COMMON TO MSZxEA,
g A-814-13-41727 PLATED(FOR SL2E58)
% ﬁ:ﬂ 5 7 [R-010-13-40726 | HEXAGON NUT |10y CABBON STEEL IRE #o0| 2 [PLAEDIFGR SIE20-q0)
| HIGH PRECISION TYPE | — @ C2%10-13-K0456 PLATEDIFOR SIZE(0]
CONTENTS OF SPECIAL - ROt411-%1053 FOR L0V EREREY
M
40| WiTH EXTERNAL SHOCK ABSORBER. 6 TRE1008-%1053 | SHOCK ARSORBER SR o [FRIW ey "
o BOLH (FOR L0V ENERGY,SYMMETRY TYPE) RE0805-X1053 FORLGY EREREY
$0J # MARKS INDICATE THE DIMENSIONS AND SECTIONS £A01052 E?ﬁé{%ﬁﬁé«ﬁ%{
. WHICH ARE DIFFERENT FROM STANDARD, 2, CA01d54 i |
< Mr.__:{ w % 5 Eﬁgliig HEX,SOEKEY HEAD CAP SCREY [ STAINLESS STEEL| 2 [EFmuimmmasma
* BAE WPETHOR SITE2-3)
= LLL 1 ’i W L:‘;Fm 400 P5238154 E{E%I{%E%&E“m
= T = . A 21 L — P5230153
= = 93 5 0 i
FH = S e w© P5230354 T O
e qxM530.8 OF 4 et HEY SOCRET HEAD CAP SCREV |STAINLESS STEEL] 2
AEMonU . O woul ? © G ain (e Size
7] -« (PORT S8iZE) w o * ® 5 CAD1048 18235¢ COATING
N o : CA01045 N ey
POK(THROUGH HOLE?} = mmm | ! 1 2xdV o R = { F PS - 95230473 1o B TR
z | o} 5230472 IHSIE VIR sizes
$04 Jua] ! [m] 2xJ4, Y K fi ] N £5230373 HIZH FRECISTON_TYPE
{mm) = w 4 > S ‘;” o P5230372 WETTFYEE
Oy oL + ) e = 3 TABLE ALUMINTUM ALLOY] 1 sk
SiZE {OH D1 | psiDK FE|HAINE|NFIUY A L - o P5230273 Tag Sized0)
) {Hg) = il - F8230272 ECHEE ]
| ife sie)]
10 {45:46(26] 5 [15]40/]18,5]11]18{52,5} f < I:L!I \ BE230173 ﬂzsa#ifgglgmgti:
A ]
$0F P 7 THR
20 |s0|e1]28| 8 |17|1s.5|26] 17|25 63 AR BREATHING HOLE A | CC THROUGH HOLE) Lﬁ& psgggisg ma G
e IGR )
30 |ss|67|a2| o |22|65|27|18]msia7 A S0 ¢06 8A O Fo230454 m:::cngéléizﬁé
Wt b P5230352
SC W (EOR 537£38)
50 [75{77|{35|10]{26{17.5[30[18.5128.5/76 p 5 BASE TYRE
(MAX.| 2 5U) s W o 2 nggggsé KBSQRBER HOLOER |ALUMINIUM ALLOY| 1 biaraieiit
. {708 §i22%0)]
PSEEUESE BASIE TYPE
o AFOR Si2ER0)|
H OW T O C} R D E R PE230152 HIGH PREEF:?:Ig;EZ‘EI‘E!g%
2xdC DEPTH JD YA 2 ifoR siacin)d
MSZ%%AX—%% -X3 P5230151 PIE T suze
| L~ KINDS OF SHOCK ABSCRBER:FOR LOV ENERGY P5230450 (FOg Suzese)
g=gig?cf’$ggé3’9” TYPE POSITION OF CONNECTING PORT:SYMMETRY TYPE —~ a R L o g il | 1 (S
' NUMBER OF AUTO SWITCHES @:_} P5230150 {FOR S12E18)
S1ZE NIL:2PCS ~TABLE POSITION SHOWS THE _%_EE%?MW £y Nik] _PART NO DART NAME MATER AL |0TY] REMARKS
10 5.1PCS SYHBELT Y EE COUNTERCLOCKWISE{CCH) £ND WHEN THE 24 i Fatss
20 n:nPCs | ok D-M3k END-TO-END ANGLE 15 SET AT 180", % { W B
[ =] - - —
20 =iMAE B~-M3B ~TEERE CAN BE A BOUND WHEN THE PREDUCT 8 b
=0 KIS OF AUTO S¥IIEH =[MGNV_[D-MONV STOPPED AT ITS MIDBLE POSITION. OO REGERTFTL0R A B TT TN e WOOELJ&T
SYMBOL TYPE GPV_|B-MSPV (IF ] L YOLERRNEED W18 B G405 ] npven SCALE U
N1 ] leeev TooMeEy IF KINETIC ENERGY 1S5 EGUAL TO ALLOWABLE.VALUE, ; i " ] M.Harada ot TH1RD @Eﬁ‘
TTAGE ~TB-A50 | |=[Fonw [Dofoiw THERE WilL BE A BOUND GF +/-10 TO +/-35 DEGREE g wanat coms RFTo |24 g laoov-1a-sal Fripe iR ANOLE
A:ADJUST BOLT — BlA5s [p-A83 ||=[FaFw [D-Foew_| T8 THE STOPPED POSITION, AND THE BOUND WILL DISAPPEAR e e afoss)oveolHHOOH! UK B AR
=AY D-ADB o{Fa8w [D-FOEW 8.2 TO 4 SECONDS AFTER.) : : m e visiar o i|hA =itz 3 POSITION ROTARY TABLE
CIASCY [D-A80Y | {=[FoNwY | D-Fonwy > Teaizs [riilf e a] CHECRED TV WG i
WIRGEV [D-AD3AV S[FGBWVTD-ESEWY] SHIPPING WITH AUTO-SWITCH ENCLOSED. & N A 17002400 [0, 30,43 |—BALE -
=AG8Y | 0-ADBY FOBWV [D-FOBWY | (NDT MOUNTED) Jobcagsens [o/efe.ai  [APPROVERLK  Takeuchi @ MEZHEAX - X3
1640823000 15, 501,2; 8 M‘E 2007-11-08
MATERTAL :#R # MATERIAL 312E:Hsti s ] JI¥G REC b 1BA13452600] SMC Corporation

FINISH:RRAR 7 FAINTIHR /7 PACKING: ARES I

Al-VOS



VA wE ANV ROV

M

EUI'I Jﬂul

A HIEH S
S17E [an| & [aviaw|ax|av|azisaissicalca|cc] o {ppiPEior D% ealeaiec eniceieriFaiFe|Felrolealae|ac|aniae! 1| U SPECIFICATIONS T i T
. - {Ha} (1) S1 £k ig0 20 34 50
ANGLE ADJUSTMENT - FLUID ALR{NON-LUBE)
10 45014178 7] 4 [9.5160 T |38{45]46{20| 5 {15 52,8/44,3193.5/14187.2/80 8 | 4 | 3 |4.5{2015.5/11 (7.5 /45.2{13 6.8 WAY. OPERAI NG PRESSURE iMP&
KLK, OPERATING FRESSURE 0.zMPa
20 [sajss|17)es|1c]| 8 |1.2)12]76i8.1010]5e.a|60]61]28] o [17{6e8/55.3 43 18 una/t00/ 10] & 12.5]6.525|10.5) 14 |e.5]56.4{17{8.5 WATEG AND FLUID TEWP SRS The FREESTNE)
! - HAX. GFERATIRG AWGLE 186"
A0 PN TOI17TH85{10] 8 |1,2]12]8440.6(10.5/53.5(65|6T7|32]| 8 |22 83.1160.3 46 [19.5/1194/410:10 4.5, 3 [6.5]2T7 21,5114 |9.5;81.5{17:8.5 TRNGE OF THE CND FOSHTI0KING +3°
DANEE BF THE WIDIE PESHIONIAG ti0-
50 Ja.sof19|21)12]10]1.6]155100/12.4112.5[60.6| 75|77 (35| 10|26 86210466 |22 |1 130} 12] 5 | 3 |7.5]32] 28] 181509 20{10.5 TEGTITRG THE SR i 0 I-15755"
CUSHION SHOCK ABSORBER .
- e e v ALLGYARLE KTHETIC fHEesi | 0 2319 1.064d 1.21J 1.824
S1ZE [yAlJdB| uC |un| Ju Jy K |NA|NBINC|ND| @ | 5 |SC;SD[SU|UU|WA|RAIWE| WO |WE|WE|RSIXCIYA|LAIYE _[RADIAL L0AD 78N 1A7N 19BN 314N
Z{THRUST LOAD FoLL; TANPUSH :TBNIFOLL;137FUS: 13TAPULL 1STNPUSK: S53MFULL 296K PUSHC 2514
20 §I116.51MBx1.250 42 |MAx0. 5 MA0xt [ MBx 1 [10(5.58({2.5] 4 |34 [R5 46(50{21.3{47115] 3 {3.5|M5x0.8] 8 (32} 3 {3.8]19] 3 3.5 MLOVASLE! |MOMFRT 2.4N-m 4.0N-m 5.aNm Q. TN-m
QA ADJUSTENG RANGE OF (BT E RACIAL LOAD 46N 166N 233N 3TN
ABJUST ] ) SHOCK ABSOREER 20 J14i0.51810x1.5) £5 |M5x0.5[MI201.25) M10x1 {24 B [165] 4 |37 [168.5(50.5(63.5]39 |54 [20.5] 4 |4.5\ MBx1 [20]|43]| 4 {4.5{24] 4 4.5 21 THRUST LOAD FULL : TANIFUSH: HO7RPULL : 13FMPUSH: 1OTNIPULL 1 TAIPUSH: 308HPULL: B9NPUSH: 517
BOLT A TR § 7 & UoENT 2 aN-m_| 4.8N-m % 6.aN.m | 12 0M-m
= - BOSITIONING PIN HOLE 30 11418, 5iM10x1. 81215 IMEx0.6[KI2x1, 25  M10xd 1247 8 [16.5] 4 [401184163.5]60(36.4]57(253) 4 {4.6] MBx1 [10{48| 4 {4.5128] 4 4.5
EEMETER |k [E3Neree o
.m B0 [18110,5iM2x5.75] 1 B {M636, 75 M14x3 5 ME4x2.5{2918.5118.5] 6 |46 576 |78 [42.4[66|26.5] 5 [6.5(MBx1.28132{565; B {5.5/33| 5 5.5 - .
ADJUSTING RANGE 6F AP .Ng REED SWITCH TYPE || SOLID STATE SWITCH TYPE
SHOCK ABSREER NG WMODEL| DoAS3(V) |IMODE L|0-MON(Y) ] D-MOBIY)
-SUPPLY PORT AND SPEED CONTROLLER BxWD DEPTH WE VOLTAGE |[AC100ViDC 24 | [aveg siupce | B8 128l | e
- SUPALY PORT SpEED 2xK ®EF / CURRENT BANGE {5~ 2 OmA; B~ 4 GA] DRI S8Ry 108 O LESS |
e PORT ¢ | pagy § | JHTROLLER SHOCK ABSORBER " RESPOHSE TINE 1.2ms LOA VOLTAGE] beaov ok 1555 | | p05RA%,
@% Bl . o | FoRiC - o SR RESISHACE 300"/, RESPONSE TIME]  ims OR LESS
oWz . = RGRT d;‘\ < FURTEE BORTRE 5 < I ot 2. 7V OR LESS | [ oo msismme 1000/ ;2
§§$; = 2 ?83-— 2 DEPTH JB = * -Refer to the general catalog, |WiEil OUKK Wal 0.BY O (55| &v 0R LSS
> N l:‘ o X~ Best pneumalics regarding unspecified soec. or other Type,
-THE FIGURE SHOWS THE ROTATION RANGE OF THE POSITIONING PIN HOLE. i :H w g
CABJUSTING METHOD OF MIDBDLE PCSITION COMPLIES WITH MSZ STANDARD, a1 B
LADJUSTING 80LT A AND B DO NOT NEED ADJUSTHENT [} o THE PARTS WHICH DO NOT EXIST ON THE PARTS LIST ARE COMMON TO MSZEMA,
1 o R-D14-13-A1727 PLATERFOR S1ZE50)
. =
= 5 1 = 7 [R-010-13-A0726 | HEXAGON NUT 0¥ CARBON STEEL IR 00{ 2 [PLATER(FaR SiEanan)]
{ HIGH PRECISION TYPE } < 4@ & o * C2XL0-13-K0456 FLATEDIFOR SIZELD)
CONTERTS 6F SPECIAL " . w REL412-X1053 FOF DG ENERCT
:g; WITH EXTERNAL SHCCK ABSORBER. 6 |RB1007-X1053 1 GHOCK ABSORBER — 2 m:::EW%EEMEEEE,éMﬂ
T (FOR KIGH ENERGY,SYMMETRY TYPE) RCTDB;;;;WW i 7% 1101
+ MARKS [NDICATE THE OINENSIONS AND SECTIONS %, Ch01051 Joct ik et e
= " WEICH ARE DIFFERENT FROM STANDARD, %, CAD1049 Ui et B
< LUI——-—-; @ij < e, 5 Faoone CSIMET 100D O SCREY| STAINLESS STEEL| 2 AeSiiRRitise
— = 1T s bt " P5230184 ?&ﬁésa‘éﬁ?ﬁ;m
- > m P5230153 TAZAEY COATIAG
3 —— O 3; i $00 P5230454 il
. - ¥ Lx PO 75230354 TEE36T COATING
E1 =t - Tt w3 {y2eaddas
AMEXO 8 LT sor i > A FERTTRAE T |TENSUHCT HERD CAP SUREY | STAINLESS STEEL| 2l ™80
N (PORT S12E) e < . CAD1048 T
[ L HIEH PRECISION TYPE
PDK{THROUGH HOLE) =om e P5230473 IS T
Z f - b ] 2xy¥ @ Ty i A R | x PE230472 W TIEE
¢ DL * ‘E@‘ 2 d U O | P52303?3 Elgi PREEIEIS!IGI‘EIW%EL
() @ o £ YN 8 3 P5230372 N
SI1ZE |ouiol (?3;) DK ‘?;:3“) FE|[HA|NE|NFIUV - ) / / ! :H—“““E * o 3 3 P5230273 TABLE ALUMINIUM ALLOY| % g FRECISTON Tiee
X = P5230272 B T 126201
10 |48(46]20| 5 [15|10 18521 |18 5.5 @ z T ] P5330173 e o) i“gf
20 |sol61|28] 9 |17 1852817 n.5]63 ’ M\)F P8230172 SASIE Ti5G s1zei0
: : LY. BREATHING HOLE e THROUGH HOLE} Yo P5230452 G FRECISTON TP
30 65|67|32) 9 221652718 15|67 o 5 o P5230451 P T sizssoy
B0 [75|77!35|10[{26[10.5{30{10.5{28.6| 76 : 2 Be * 3% Faz3ses :':Zl::fgég;g’x'zgﬁ
. S, P523 i
5C wo 2 [E2E3AR0 - ABSORBER HOLDER |ALUMINIUM ALLOY| 1 frorprililliil
(MAX. # SU) S 1 (FOR_51ZE2Q)
P523g251 BASEL TYPE
HOW TO ORDER hiraiies m%
MSZ%K;%AX—%;%fol 2xJC DEPTH D YA 2 P5235151 -
1 "L KINDS OF SHOCK ABSORBER:FOR HIGH ENERGY PS230450 ]
A;HIGH PRECISION TYPE POSITION OF CONNECTING PORT:SYMMETRY TYPE 1 ARM CHRCHIUM ML TROENIM STEEL] 1
8:8ASIC TYPE E P5230250 {FOR S1IER0)
NUMBER OF AUTD SWITCHES 5230150 {F0R SI2E30)
S1ZE NiL:2p0S <TABLE POSITION SHOWS THE - $IEME PART NO PART NAME MATER )AL ATY| REMARKS
6.1pos [SYMEDL [ TYPE ] COUNTERCLOCKWISE(CCW) END WHEN THE = - e -
ég ninPeS "Mg_ SEET ENB-TO-END ANGLE 15 SET AT 180°. %ﬁ b T
. s 0 - P
20 K0S OF AUTO SYITCH BIMAL 1 9-N2E 1 L THERE CAN BE A BOUND WHEN THE PRODUCT 1S CiF T - -
i MENV ID-MENV STOPPEDR AT ITS MIODLE POSITION,
50 [ SYWAOL T TYPE 11" MSPV_TD-MSPV_| {|F KINETIC ENERGY }5 EQUAL TO ALLOWABLE VALUE, < TS 158 B0 somwr VT 1127 3.0 B{SCRLE e W
ML P MOBY L D-MOBY..1  THERE WILL BE A BOUND OF +/-10 TO +/-35 DEGREE ' ‘ v susceiom [T mie_lagor-saoal Frice hutt @]
A:ADJYUSY BOLY - § AD3 G-AQ3 SrEsPw TDSFaEW TO THE STOPPED POSITION, AND THE BOUND WILL DISAPPEAR L - “-5‘9:3 o iTo.a g0 . Ragar i uchi [BVE WARE
E[A96 T0-A96 ||=/FeBwW [D-FoBW 0.2 TO 4 SECONBS AFTER.) ® TR VAL cﬂ";&iam;“"" 3 POSITION ROTARY TABLE
O A I e A E 2| - SHIPPING WITH AUTO-SWITCH ENCLOSED. oA > e i BN [T S
S[A56V [D-ASHY FoEwvIO-Famwy] {(NOT MOUNTED) ooty M oo . TIRRUNT| (B) MS Z3 AX ~363 ~ X4 A
RSN b LR R 008 naee} | n{E] oie 10/BA134527C0] SMC Cormporation

Al-vo5





